Complete the table with the appropriate information.

isotope | GUTTBer | Number | Protoms | Newtrone | Electrons
Uranium - 235
Chlorine - 35
22 22
Calcium - 48
146 94
15 32
Strontium - 90
30 26
Bismuth - 209
34 45
Boron - 11
208 127
Nickel - 58
8 16 8
6 7
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Answers

sotope | Aomlc | Mass | Numberof | Numberof | Mumber o
Uranium - 235 92 235 92 143 92
Chlorine - 35 17 35 17 18 17
Titanium - 44 22 44 22 22 22
Calcium - 48 20 48 20 28 20
Plutonium - 240 94 240 94 146 94
Phosphorus - 32 15 32 15 17 15
Strontium - 90 38 90 38 42 38
Iron - 56 26 56 26 30 26
Bismuth - 209 83 209 83 126 83
Selenium - 79 34 79 34 45 34
Boron - 11 o o < 6 5
Thallium - 208 81 208 81 127 81
Nickel - 58 28 58 28 30 28
Oxygen - 16 8 16 8 8 8
Carbon - 13 6 15 6 7 6
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